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In the UK, the main economic changes are the declining significance of industrial Q & employment compared with the service sector, caused by ‘maturity’, low-wage competition, the advent of North Sea oil, ‘crowding out’ by non-market public sector & low UK productivity vis-à-vis its competitors.  UK is no longer an industrial economy or a manufacturing nation.  In the past 30 years, the economy transformed so that manufacturing only contributes 20% of the total Q.  The prominent industries like North Sea oil/gas did not exist 256 years ago.  UK has become a ‘post-industrial’ economy and the service sector has become dominant.

12.1  Structure defined

An economy is analysed in terms of its components, or sectors, that can be widely or narrowly drawn to include groups of industries or parts of industries.  Structural changes is discussed in terms of the more widely drawn primary, secondary & tertiary sectors:

The Primary

Sector
- Includes activities directly related to natural resources, e.g. farming or oil extraction.

The Secondary

Sector
- Covers all others goods production in the economy, including processing materials from the primary sector.

- Manufacturing is the main element, including construction, public utility industries of gas, water & electricity.

The Tertiary 

Sector
- Includes all the private sector services, e.g. insurance, banking & finance & all public sector services like health & defence.

The Goods Sector
- The primary & secondary sectors combined.

The Production Industries
- The secondary sectors except construction, together with the coal & coke industries & the extraction of mineral oil & natural gas.

Structural changes
- Changes in the relative size of the sectors.

- Can be judged by Q(contribution to GDP), or by inputs used (K & L, L is usually used due to the interest in employment & the fact that it can be more easily measured than K.


Structural changes are resultant from the changes in the pattern of demand for a country’s products which vary with Y & taste, affecting both Q & employment.  Economic growth+rise in real Y  D for goods & services increase relative to those with low/even negative Y(d.  Between 1983-1993, total real consumer expenditure at 1990 prices rose by 33.5%, but that on ‘recreation, entertainment & education’ rose by 55%, whilst that on food rose only by 11.3%.  Within the recreation, entertainment & education category, ‘radio, TV & other durable’ real spending increased by 176%, whereas, that of newspapers & magazines only rose by 2.7%.


The pattern of demand is also responsive to changes in the age structure of population.  Like other developed countries, the UK is experiencing a demographic changes where by 1996, there will be 1.68M fewer people in the 16-24 years old age group than in 1981.  This may constrain the growth in the ‘recreation, entertainment & education’ sector, unless it could adapt to the changes.  The smaller age cohort will also form fewer new households  demand for housing, furniture & durable reduced.  In the LR, another demographic factor of a rise in people aged 75 or over will place increasing demand on medical & care services.


The reduced supply of young people in the labour mkt in the early 1990s increased their earnings relative to other workers  encourage firms to recruit older workers, substitute K for L ( changes employment pattern)  raise product prices ( reduce growth of Q  influence employment).   Technical progress makes possible entirely new goods/services  reduces costs of production(robotics in manufacturing, computerised accounting in banking)  total factor productivity rise  unit costs fall.  The supply side initiates new patterns of demand, Q & employment by creating new products/reducing prices of existing products/raising quality.


Changes in sources availability may also initiate structural change(oil in 1973 & 1979).  When the oil-producing & exporting countries (OPEC) restricted world Q, oil based products rose sharply in P  direct consequences for substitutes[D(] (e.g. coal) & complements[D(] (e.g. cars), decisions taken throughout the economy by producers & consumers to conserve energy  decline in Q & employment in energy-intensive industries like steel.


Oils’ indirect effects on the UK structural economy is that on the exchange rate.  North Sea oil enabled the UK to be self-sufficient in oil by 1980 & bestowed ‘petrol- currency’ statues on the pound  ( exchange rate is sensitive to changes in oil prices.  Between 1979-83, ( was kept higher than it would have been  UK X dearer & M cheaper in the early 1980s  adverse effects for Q & employment in sectors facing international competition.  During 1986, oil price halved  ( fell 9.2% on average  stimulus to industrial Q during 1987.  By 1990, UK was not much more than self sufficient in oil ( ( still behaved as a petrol-currency during the Gulf crisis.  Iraq’s invasion of Kuwait  oil price rises  ( appreciated 6% during July & August 1990.  The declining role of oil in the UK economy is illustrated by the fact that oil trade has fallen from (8 163M in 1985 to (2 462M in 1993


International competition  structural changes in the economy of the UK.  Changing consumer tastes, new products. changing comparative costs  redistribution of economic activity worldwide. E.G.: UK motorcycles manufacturers failed to meet consumer demand for lighter, more reliable motorcycles in face of Japanese competition.  Major impact on UK Q & employment comes from EU countries which have unrestricted access to the UK mkt..


Decisions on the location of industrial production are increasingly taken by multinational enterprises.  In the UK motor industry, decision by Ford & General Motors during the 1970s & early 1980s to supply more of the European mkt. from other EU plants  fall in UK car Q from 1.3M in 1977 to 1.1M in 1987.  By 1996, UK’s car Q should increase by 0.5M per year if plans of Nissan, Toyota, Honda & Peugeot-Citoren materialise.

12.2  Structural changes in the UK

In the primary sector, agriculture, hunting, forestry & fishing grew at 1.8% per annum from 1964-1979, rising to 6.5% between 1979 & 1984, stimulated by EU policies & unaffected by the recession.  Then agricultural Q declined by almost 5% in the 4 years to 1988 before its growth is renewed at 2% in 1988-93, despite recession  primary sector is more influenced by EU’s agricultural policies than by the UK economy’s rate of growth.  Within the mining & quarrying category are the 2 contrasting industries of coal whose Q fall throughout the period, and oil & gas extraction industry which grew rapidly in the late 70s & early 80s.  Q for coal fell by just over half in 1964-79.  High real energy prices after the 73 & 79 oil price shocks improved the industry’s prospects, while making feasible rapid exploitation of high cost N Sea oil which was increasingly acting as a substitute for coal.  Coal Q fell by 30% between 1979-90 & a further 20% in 90-93, as privatised electricity boards switched to gas.  Oil/gas extraction peaked at an index no. of 187 in 1987, after which time it fell, but rise again for 28%  in 1990-93 as oil/gas is substituted for coal in electricity generation.


In the secondary sector, Q from both construction & manufacturing rose 1964-73 but fell then until 1981, especially during the 1979-81 recession.  Manufacturing Q fell by 14.2% in that recession.  The recovery took manufacturing Q to a new peak by 1990 which was 5.4 pts. above the peak in 1973, which was then lost in the recession of 1991-92, before a slight upturn in 1993.  Construction industry followed a similar path up to 1931.  It was a leading sector in the 80s, with growth of 66% between 1981 & 1990 (5.7%pa).  Between 1990 & 93, Q fell almost 13%.  The LR growth of Q in the electricity, gas & water supply tends to exceed that of GDP & does not become negative during recessions.  It rebounded more strongly after 1992 than any other except oil/gas extraction.


Industrial production grew in 1964-73 by 2.9%, then grew slowly between 1973-79 & fell sharply in 1979-1981.  The N Sea oil/gas helped to compensate for the sharp decline in manufacturing Q since 1973.  Exploitation of a non-renewable resource is more akin to consumption than production.  It provided UK with a gain in Q over other countries.  It masked the full extent of the decline in non-oil industrial Q which fell by 14.6% in 1973-81  non-oil GDP became 2.5% lower in 1981 than in 1973.


The growth in the UK industrial Q was led by manufacturing whose Q averaged 2.9% pa until 1988.  Industrial production fell back in the recession, falling 4.1 pts between 1990 & 1992 before recovering 2 pts in 1993.


International comparisons highlight British industry’s failure during the 60s & 70s  industrial production in the industrial mkt. economies (OECD) grew averaged 6.2% pa between 1960 & 1970, whereas UK’s is 2.3% between 1970 & 1983  British industrial Q in the 60s grew at less than half of the OECD’s average rate.  In the 1980s, the UK industry’s growth relative to other OECD improved.  For 1980-93,  OECD’s industrial growth is 20.2% for the UK, 25.4% for OECD average % 13.9 % for the EU countries.  One could question the usage of 1980 as a base year as UK was entering a deep recession.


In the tertiary /service sector, Q grew in every sub-sector in 1964-79.  Q only fell in 2 of the 8 sub-sectors in 1979-81, with communications & financial services as pace-setters.  Different changes to the industrial & service sectors  their share of total Q changed.  However, even the service sector growth in 1964-81 lagged behind that of OECD.  In 1981-93, UK’s service sector growth was at 2.7% which is a relative improvement as the average for OECD had fallen to a similar figure.  Poor UK industrial performance may contributed to this relatively poor service sector performance as many are marketed to industry/people whose Y are earned in industry.


The UK GDP grew from 58.7 in 1964 to 80.0 in 1979  by  36%, giving an average annual growth of 2.2%, which slowed down to 1.1% between 1973-79.  The GDP declined between 1979 and 1981 by 4.4% , whilst the OECD average GDP rose slowly.  UK growth performance was poor between 1964 & 81 by international standards.  In the 8 years after the 1981 recession, UK real GDP grew at an average of 3.3% pa, above the OECD average of 3.1%  UK’s relative economic decline halted, but it is a slow process  UK real GDP grew at 0.4% pa between 1988 & 1993, compared to the OECD average of 1.9%.

Changes in shares of output

The primary sector was in relative decline in 1964-73, due to the contraction of Q in coal-mining.  From a low point of 4.2% of GDP in 1973, the primary sector increased its share to 6.7% in 1973 and 9.5% in 1984, mostly attributable to the growth of N Sea oil/gas production.  By 1990, its share slumped to 3.9%, and that of oil/gas from 7% in 1984 to 1.9% in 1993, caused partly due to the collapse of oil prices in 1986.  UK’s national interest in energy prices is unnecessary due to her self-sufficiency.


The secondary sector’s share of Q fell from 42% in 1969 to 31.5% in 1990 and the recession further reduced this to 28.4% in 1993, due to the LR decline in the manufacturing’s share of the GDP.  By 1990, manufacturing produced 22.5% of UK Q which fell to 20.8% by 1993.


The tertiary sector’s share of Q grew throughout the period since 1969  primary/ secondary sectors’ shares fell.  Financial sector doubled its share of Q between 1964 & 93 to become second to manufacturing in Q share.


With the exception of the growth of N Sea sector, the economic changes of a fall in share of manufacturing in GDP & the growth in the service sector in the UK is typical of other OECD.  However, UK’s volume of non-oil industrial production fell between 1973 & 1981.  There was negligible growth of manufacturing Q in the UK in 1973-93.

Changes in employment

Employment is influenced by changes in: i)Q, ii)technology which affect the labour per unit of Q.  Job vacancies declined in the goods sector from 1964 to 74 and even more from 1979 to 1993.


In the primary sector, employment reduced by 61% from 1964 to 1990  coal Q declined.  Decline in employment in the mining & quarrying sector accelerated after 1990  coal lost electricity generation mkt. to gas & was about to be privatised.  Employment level in 1990 was 17 400  compared with over 300 00 in the 70s.  Growth in Q per worker in agriculture  employment in 1993 was almost half that of 1964, although Q increased by 87%.  N Sea sector  24 000 jobs created directly in oil/natural gas by 1981.  This was increased to 63 000  by 1993.  The total effect is a fall in the primary sector’s share of total employment from 5.1% in 1964 to 1.5% in 1990.


In the secondary sector, employment fell by 2.07M between 1964 & 1979, & 3.% from 1979-93.  Manufacturing suffered most as the largest part of the sector  4.55M in 1964-93, with its share of the total employment fell from 38.1% to 20.2%.


Employment fell in the goods sector in 1964-79  employment in the tertiary sector expanded by 2 378 000 (mainly in the financial sector, professional/scientific services) enabling total employment to be at around 23M .


Gain in employment in the service sector from losses in the goods sector broke down after 1979 until 1984  1979-81: employment in the service sector fell slightly.  1979-93: service sector employment grew by 2.2M and that for the goods sector fell by 3.77M  employment fell by 1 604 000, when the workforce increased steadily.


There were similar changes throughout the industrial world.  By comparison, UK has a relatively small agricultural & industrial sector & a larger service sector.

12.3  Causes of structural change
Stages of maturity

There are several variants of the maturity argument that provide explanations of industrial decline which appear reassuring.


The first suggests that the changing employment pattern since 1964 is analogous to the transfer of workers from agriculture to industry in the 19th century  crucial to create new industrial workforce.  It argues that those previously employed in industrial activities were required for expansion of the service sector in the 60s-70s.  This argument is weak from mid-60s onwards  rising U could provide opportunities for the service sector expansion without a declining industrial sector employment.


The hypothesis that economic maturity is associated with fall in industrial employment is supported by some nations’ experience, but not the others’ in 1964-79  Hence, the industrial employment decline in 1964-79 in the UK was not inevitable.  Data in 1979-83 is difficult to interpret as a recession was involved.  Data for 1983-92 refuted that hypothesis.  The UK decline in industrial employment accelerated in the early 19902, falling 14% from 1983-92.


A second variant of the argument is that the changing economic structure reflects the pattern of demand following economic development  consumer demand in a mature economy shifts from goods towards services(higher Y(d) + increased provision of public sector services  growth in tertiary sector.  However, UK demand for manufactured M grew faster than UK manufactured X  hardly consistent with a major switch of UK D from industries producing goods.


The third variant is from Rowthorn & Wells(1987), which argues that D manufactued goods is at least is Y elastic as Services, when valued at constant prices.i.e. in terms of volume.  A successful industrial sector would achieve increases in the volume of Q at least matching the GDP growth.  Faster growth of productivity  P( relative to those in the service sector  industrial sector’s share of Q at current P & employment reduced.  This argument concludes that maturity is based on productivity instead of demand.  The relative stagnation of the volume of industrial Q rejects this argument.


The last variant is that the UK has been always reluctant to be a manufacturing nation and she specialises now in services in which she has a comparative advantage and a protected domestic mkt.  Since the mid-1970s, need to exploit comparative advantage in services could be met from idle resources rather than reducing industrial Q & employment.

Low-wage competition

The Third-World is often blamed for providing unfair low-wage competition, but low wages in developing countries are accompanied by low productivity, lack of key categories of skilled labour & a shortage of supporting industrial services/infrastructure.  UK which is a low-wage economy by OECD standards does not face this competition.  The involvement of Third World competition in the X of world manufactures is too small  to have caused structural changes in the UK.  Competitions come from other OECD.  Countries like the high growth Asian ‘Tiger’ economies provide important X mkts. for manufactured goods  world economic growth.

The North Sea

Free market economists argue that N Sea oil’s contribution to the UK balance of payments caused decline in some sectors, attributable to the exchange rate.  The net effect is a higher sterling exchange rate(esp. in late 70s & early 80s).  Sterling as a petrol-currency attract an increased capital flow  D( for ( ((  UK X more expensive, M cheaper in the UK  decline in industrial Q & employment (industrial products account for 2/3 of X+M).  This argument is rather simplistic, as the government could have directed surplus foreign exchange by oil revenues towards capital equipment M  ease upward pressure for (  increase future competitiveness & economic recovery.  The pressure could also have been eased by macroeconomic policies raising AD, with its spending on M, or I(.


N Sea oil cannot be wholly blamed for the industrial decline  structural changes began in mid-1960s, N Sea oil became significant factor in the UK balance of payments in 1978.  High exchange rate in 1978-81 contributed to industrial decline, though.  Different macroeconomics policies produced a lower exchanged rate, as happened after the withdrawal from ERM in September 1992.

‘Crowding out’

Bacon & Eltis(1976) argued that the decline of British industry was due to its being displaced by the growth of the non-mkt. public sector.  Some(like steel) is industrial and markets its Q in the same was as the private sector.  Others, like health & education, provides services which are not marketed and are free.  They use resources & generated Y but does not supply Q to the mkt.  They require investment goods for inputs, & consume goods/services which must be provided by the mkt. sector.


In a closed economy, Y generated in the mkt.=value of Q.  If a non-mkt. (government) sector is present, it will require a proportion of the goods/services.  a function of taxes is to channel resources from the mkt. sector to support non-mkt activity.  Rapid public sector growth after 1945  rapid increase in tax burden  adversely affect investment & attitudes to work  economic growth damaged.  Rising tax demands  workers in mkt & non-mkt sectors sought to improve their real disposable Y  inflation.


If the mkt. sector could no fulfil D of the public sector by forgoing claims on its own Q  adjustments must be made externally in an open economy  reduce X or increase M  balance of payments problems.


Bacon & Eltis see the rapid growth of the non-mkt. sector as the cause of higher T & interest rate, lower I, inflation & balance of payments problems.  It ‘crowded out’ the mkt. sector, creating an economic environment that conduct to the UK decline.  


These ideas provided intellectual backing to the Tory’s approach to public spending & tax policies since 1979.  However, cut in public spending & taxation after 1979 accelerated industrial decline, eroded the tax base & prevented the desired reduction of the tax burden.  High U in the 80s made it impossible to argue that industry denied labour, although I was lacked.  Low I, not high interest rates  low expected returns.  The ‘crowding out’ argument neglected the importance of public sector services as inputs to the private sector.  e.g. education increased the skills of the work force.

Productivity

Total Q is determined by the quantity of factor input & by the use to which factors are put.  Different economies could achieve different Q with similar factor input, due to variations in productivity.


Total factor productivity (TFP) = Total Output / Inputs of all factors.


This is always equal to 1, as total Q of industries is equal to total Y () of factors of production.  If the Q and inputs are revalued in the prices of a based year, changes in ‘real’ Q or factor input could be shown  physical, as opposed to valued productivity is shown.


TFP could be broken down into labour/capital productivity which are partial factor productivity (PFP).  TFP & K productivity are less frequently used as they are more 

difficult to measure than labour productivity.


Output per person employed = total output / total persons employed


Output per person hour = total output / total hours worked


In the UK between 1964-73, UK manufacturing productivity increased by 18.1pts with at annual rate of 3.8%.  In 1973-79, this fell to 0.6% pa.  Most advanced economies experienced slower productivity growth after 1973, but in 1964-79, UK productivity growth lagged behind.  However, the base level of productivity is as important as the growth.  Also manufacturing & non-manufacturing productivity must be examined.  UK’s poor productivity during the period was most marked in manufacturing.  In 1980, UK workers manufactured averaged $6 800 of Q per year at constant 1973 prices, whilst workers in other countries averaged $10 400-$16 800 per year.


The UK service industry also has a lower labour productivity comparatively.  Only the productivity in agriculture is in line with other countries.  UK productivity in the 80s & early 90s recovered, led by manufacturing after a stagnation in the 70s.  Manufacturing’s grew at 3.8% pa on average, compared with less than 3.8% for other industrialised countries.  However, productivity gain is associated with a fall in manufacturing Q since 1990.


in 1979-80, only Japan & Belgium had greater labour productivity growth than the UK.  Japanese manufacturing Q per hour was 50% higher than the UK in 1991 against 96% in 1980.  The gap with Germany was also narrowed at 40% in 1991.  International comparisons with rates of growth of productivity is easier than that with the levels of productivity  sensitive to exchange rate, different definitions of Q & employment.

12.4  Consequences of structural changes
Deindustralisation

In the UK, there is a decline in industrial employment, and industry’s share of GDP & employment fell, which is common to advanced economies.  UK is unusual in the decline in the volume of non-oil industry Q after 1973.


Deindustrialisation was not a big problem up to 1979.  Many British did not choose industrial employment and the declining industrial employment is compensated by increasing non-industrial (service) employment.  Since 1979, employment in the service sector fell.  U worst hit those area where industries concentrated : the Midlands, the N, Yorkshire & Humberside, the NW, Wales & Scotland (>10% in 80s.  The U differential between regions narrowed as the early 90s recession hit the previously expanding service sector.  Deinsudtrialisation could be seen as a move towards a post-industrial society where the main activities involve creation/handling of information.  A decline in the absolute (not share) industrial Q relative to other advanced economies would be more worrying.


A decline in manufacturing activity may cause a more serious U than the statistics show, as manufacturing is characterised by more backward-linkages.  The rate of purchase of service Q by manufacturing firms is a much larger proportion than is the purchase of manufactured goods by services.  Deindustrialisation also put forward-linkages at risk.  Innovations are heavily concentrated in manufacturing(87% in manufacturing/primary sectors).  It puts at risk the ‘seed-corn’ of domestic technology which affects balance of payments as UK trades geared towards high-technology products.

Growth prospects

Manufacturing encouraged rapid growth of labour productivity as there are scopes for   capital  investment  &  technical  progress.   Growth  of  manufacturing  Q,  GDP  & 

productivity are closely related.  New jobs in manufacturing in the 19th century  workers left agriculture + other lower productivity sectors  those in new jobs raise productivity  productivity of the agricultural sector raised as marginal workers were removed  Y( in manufacturing  D( for goods/services  multiplier encouraged further growth.  In 1985-93, manufacturing contributed 70% of the average rise in Q per worker.


There are little scope for improved productivity in the service sector: i)no clear Q, ii)quality of services not accounted for,  iii)national accounts often measure Q by inputs giving TFP of 1.  Where productivity can be measured meaningfully, there is scope for productivity growth, esp. where information technologies are applied.  However, workers becoming U in manufacturing and moving to the service sectors may have their productivity lowered.

Balance of payments

The alternative definition of deindustrialisation by Singh states that a efficient manufacturing sector could satisfy domestic demand and export enough to finance the country’s M.  This is restricted to a socially acceptable levels of Q, employment & exchange rate.  Countries like the UK must then be deindustrialised if those criteria are not met.  The current account could only be kept by oil & service sector earnings & that from overseas assets.  Reflation of D  growth in M  deficit pressure. Deindustrialisation recreated the balance of payments constrain on macroeconomic policy.


The service sector may not necessarily take over manufacturing’s role in the balance of payments.  Many services could not be trade internationally.  A rise in 2.5% of service X is required to offset a 1% fall in manufacturing X.  The UK is already successful in those tradable services(e.g. financial services)  has to move to a monopoly position, but there will be a problem with international competition.  According to Singh’s definition, most non-oil-producing industrial countries are deindustrialised, as their macroeconomic policies are constrained by balance of payments after the oil shocks.

Inflation

If deindustrialisation prevented mkt. demand from being met  M & inflation pressure.  Hence, despite high U, there is little spare capacity in the UK in sectors where deindustrialisation has been excessive.  Supply side constraints  demand-led inflation with a sustained increase in AD(late 80s)
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